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I.     Uzupełnij poniższe zdania. Liczba kresek  jest równa liczbie liter brakującego wyrazu.   

Nie wolno zmieniać żadnej z podanych liter.                                                  (0-9 pkt) 

 

 

1. They both played the game ac_ _ r _ _ng to the rules. 

2. The guest a_ _ _ o _ _ _ ed for arriving late. 

3. She threw a  b_ c_ _ t  of water over the flames. 

4. They had to  c_ _ _ _ l  tomorrow's  game because of the bad weather. 

5. Strong winds had caused serious  d_ _ _ g _  to the roof. 

6. Keep away from the e_ _ e  of the cliff - you might fall. 

7. Let's move  f_ _ _ _ _ d so we can hear better. 

8. "Hi" is an  i_ f _  _  _ _ l  way of greeting people. 

9. There is a plan to l_ _ g _ _en the three-year course to four years. 

 
 
 
 
 
 

Zadanie 1. 

(max 9 pkt) 

Zadanie 2. 

(max  7  pkt) 

Zadanie 3. 

(max  7  pkt) 

Zadanie 4. 

(max 8   pkt) 

Zadanie 5. 

(max 9 pkt) 

Razem 

(max 40 pkt) 

      
 



 
 

II.     Uzupełnij poniższe zdania, wpisując w luki brakujący przyimek. W każdą z luk wpisz 

jeden wyraz.                                                                         (0-7) 

     

 

 

1. You shouldn’t laugh ___________ other people’s misfortunes. 

2. I haven’t replied ___________ Mark’s message yet. 

3. Jill, could you help your little brother get ___________ his bike? He doesn’t want to ride 

it anymore. 

4. The lifeguard saved the woman ___________ drowning. 

5. I’m fed up ___________ your excuses for not doing any work. 

6. Susan is keen ___________ Chinese food and she cookes it it at least twice a week. 

7. If you come  ___________ that CD, could you buy it for me? 

 

 

 

 
III. Przeczytaj poniższy tekst. W niektórych linijkach (1-) występuje błąd – jedno zbędne              

słowo. Wpisz je w odpowiednim miejscu w kolumnie po prawej stronie (przykład 0).                       

Jeśli dana linijka nie zawiera zbędnego wyrazu, wpisz symbol √ (przykład 00).              (0-7 pkt)  

 
 

       0 When I first came to live in Spain, I could not to to 

     00 speak Spanish. I had to learn to speak quickly  

1.  because of my job. Some friends suggested to buying a   

2.  television and this turned out to be a really good advice.   

3.  At the first, I did not really understand anything at  

4.  all, but little by little I began to pick up the main ideas.   

5.  I would been read an English newspaper the same day  

6.  so I knew that what was happening around the world   

7.  anyway and I could understand the news. But the best of  

programmes for learning Spanish were the game shows. 

I must have watched hundreds of them in the first few 

months  after I came to live here.  

   

 

 



 

 
IV.    Uzupełnij poniższe zdania, wpisując w lukę odpowiednią formę wyrazu utworzonego  

od słowa podanego pod tekstem (1-8). Zdanie (0) stanowi przykład.              (0-8 pkt) 

 

London is the capital city and main (0) ____industrial ____ centre of the United Kingdom. 

 

The (1) _____________ that a member of your family is sleepwalking may be   

alarming, but it is not an uncommon phenomenon. Both adults and children sleepwalk, however 

it is more common in children. 

Sleepwalking is not a psychological (2) _____________, as some may think. Nor is there any           

(3) _____________  between dreams and sleepwalking .  The (4) __________________ which 

experts give for sleepwalking is that it is mainly due to being tired and under a lot of stress.             

(5) _____________,  (6) _____________ at work or at school or even the loss of a favourite         

possession could trigger it off.                                                                                                        

Sleepwalkers move easily around the house despite the (7) _____________ , sometimes opening 

drawers as if searching for something. It is difficult to wake up a sleepwalker and it is considered 

(8) _____________ because it can cause great distress. The following morning the sleepwalker 

doesn’t usually remember anything. 

 

0  INDUSTRY 

1   DISCOVER 

2  ORDER 

3   CONNECT 

4   EXPLAIN 

5   ANXIOUS 

6   PRESS 

7   DARK 

8   WISE 

        
                        



V. Wybierz, zakreślając kółkiem, jedną z czterech propozycji (a, b, c, d)  

       uzupełnienia luk w poniższych zdaniach.                  (0-9 pkt) 

 

  1.     I can’t tell you where_________ . 

a)   it’s hidden 

b)   is it hidden 

c)   is hiding 

d)   hides 

 

 

2.     He _________ going for a drive in the country.  

a)   offered 

b)   said 

c)   suggested 

d)   asked 

 

3.     “I can speak Spanish.” 

          ”So _________ .“ 

a)   can I speak 

b)   can I 

c)   I can too 

d)   I can 

 

4.     I’ll phone you as soon as I  _________ more. 

a)   know 

b)   knew 

c)   will know 

d)   am knowing 

 
5.     I never realized they were _________   cooks. 

a)   a such good 

b)   such a good 

c)   so good 

d)   such good 

 

 

6.     Aden Bowman High School, _________ team won the trophy, is only a block away from here. 

a)   which 

b)  its 

c)  whose 

d)   that 

 
7.    “Tim is on vacation in France.” 

           “Oh. That explains why I haven’t seen him _________ days.” 

a)   during 

b)   ago 

c)   since 

d)   for 

 

8.     My mother always  _________ take our shoes off at the door. 

a)   made us to 

b)   did us 

c)   made us 

d)   had us to 

 

 

9.     “Did your sister get that guard dog she was talking about?” 

         “No, she _________ .” 

a)   decided not 

b)   not decided 

c)   decided not to 

d)   not decided it 

 
 


